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3.

Part A
History and Culture

Consider the followin
g state -
Harappan cultures : - ments on the late

L. Thﬁ 1.3;1139 Harappan cultures are
primarily Chaleolithic in which tools of
stone and copper are used. |

IL They. _ do not show metal
.requlrmg complicated casting.

III. The Chalcolithic people in the later
Harappan phase lived in villages.

IV. In the late Harappan phase at

Bhagwanpura in Haryana, burnt bricks
were not found,

Which of the above statements are correct ?
(1) LIandIV .(2) I,1I and III
3) ILIIIandIV '(4) I IIIII and IV

objects

Consider the following types of pottery : .
L Black and Red Ware

II. Black Slipped Ware

III. Painted Grey Ware

IV. Red Ware

V. Northern Black Polished Ware *

Which of the above types of pottery were
associated with the Later Vedic people ?

(1) II, III and IV only
(2) II,III and V only
@) I,IL I and IV
(4) LILIIIVandV

Identify the incorrect statement on the
contributions of Jainism :

(1) The early Jainas adopted Prakrit to

preach their doctrines.

(2) Their religious literature was written in
Ardhamagadhi. |

(3) The early Jainas discarded Sanskrit
language.

never used Apabhramsa for the
i ::lfifest important works of Jainism,

(4)
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GS/1G/100 (6) (A
4. Match the following : 4. 80O B H68yobh
Listl. List-11 S Dedl
(Mahajanapada) (Capital) . . i
A. Avanti L Ujain (abay*235a3¢30) (0"2367°)
- B. Koshala it Shiavast A. ©508 I &Zond
C. Vatsa III. Kaushambi B. §¥o I1. .LW‘;S?Q
D. Anga
. IV. Champa C. b)) L. 708
Ch : . -
givt;;Sieltcl)lg :correct answer using the codes D. ®O0f IV. 509
A B 8 5 BHS aS52AS SHOD GHTrA0D TS
BIFTRR), NOHEOR !
1 I II III. v
' A B C D
(2) I I IV 11T
(1 1 II 111 v
3 Iv I IT I :
2 1II I v I
(4 III v I II .
3 v I II I
4 II v I II
5. Consider the following art and architectural
forms : 5. 808 &% 80 Qo o
1. Rock-cut eléphant at Dhauli in Orissa HBMEdot50d :
L 28)SQ S
II. Yakshi figure from Didarganj near - \ 5"@ (é oSS TR
' ARV ]
Patna
B I 2rer) SHod’D B6K0E S'Q oDl
III. Great Stupa at Sanchi in Madhya G
|70
Pradesh .
ML HSIDBISQ 0D 5@ 10 DSOS
IV. 80-pillared hall at Kumrahar near QP50

Patna
IV. er)  ONoSR  HEDIE SP

Which of the above art and architectural forms 80 D0ZF® $HOLHO
belong to the Mauryan period ? n;

2 €8 LB Joe rares SHse

() Wlenglv: » Ferds ToBSD DD ?
(2) IIand III only (1) II, 11T SHB8asw IV
(3) LI IIandIV - (2) 11 L8050 I S

(8) 1,11, I o IV
(4) T, 11 Sdcsw I

(4) 1,IIandIIl
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8.

Consider the following itemg :
j Turban

II.  Trousers
III. Heavy long coat

Iv. Helmet

V.  Boots

intr:ggucgg bth:h items listed above were
Yy the Shakas ar :

Central Agiay | ChoKsE 21d Kushams o

(1) LIL IO and IV
(2) LILIMandV

(3) ILILIVandV
@ LILIIVand Vv

In the Satavahan

a’s inscriptions, the terms
‘Katakas’ and ‘Sk : ;

ar{_t__i_havaras’ mean
(1) The tax free villages of Buddhist monks

(2) Military camps and settlements \E;’_hil':h
served as administrative centres

(3)  The areas of rock-cut architecture

(4) The areas of large scale

paddy
transplantations

Consider the following statements :

I During the reign of Chandragupta-I, the
Sakas were defeated.

II. Samudragupta’s South Indian conquest
did not lead to any permanent
annexation. '

Which of the above statements is/are correct ?
(1) Statement I only

(2) Statement II only

(3) Both of them

(4) None of them

In the Sangam literature, Vellalars were :
(1) Brahmanas who functioned as poets
(2) rich peasants who formed the fourth

caste
(3) agricultural labourers who also worked
with animal skins
forest tribes who suffered from extreme

(4)
y poverty

(6)
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il 10. Match the following :
- List-1 List-11
(Pallavan Ruler) (Political event)
A. Sivaskandavarman I. Samudragupta’s
invasion
B. Vishnugopa II. Kanchi came
under the
Pallavas
C. Narasimhavarman-I III. Defeated by
Vikramaditya-II
and city of
Kanchi was
captured
D. Nandivarman-II IV. Defeat of
" Pulakesin-II
and destruction
of Vatapi city

i

12.

Choose the correct answer using the codes
given below :

A B C D
1) 1 II Im I
2 I I Iv 1II
3) IV III II I

(4) IO v I II

Which of the following is wrongly matched

with respect to Rashtrakutas ?

(1) Amoghavarsha : the first Kannada book

writer
(2). Dantidurga : the founder of Rashtrakuta
kingdom
(3) Vallabharaja : the contemporary of
' Al-Masudi

(4)
of Shiva at Ellora

Identify the incorrect statement regarding
the Cholas :

(1) The Chola Empire was founded by

Parantaka-I.

(2) Parantaka-I took the title
“Maduraikondavan”,

(3)

Rajaraja-I conquered the Maldive islands.

Rajendra-I built
Cholapuram,

(4) Gangaikonda

Krishna-IIT : the famous rock-cut temple

(7)
10.

11.

12.

GET IT ON
Google Play

2
1806 3R S8k Yok
el - appae
(505 (OresdaD S0
T*OSHC)
A BIQF0LS8; 1, Ds50( 515
(alelaTor Wil
B. JPFIR 1L Eod Heorde
883058 SDY0B

C. SEVOITSEI TIL DESrOSs-1l TAS
| 2.B8F0w, §0D SHBO

FBIDBH000H
D. SOBIBNI  IV. HFI-II £,
5805 FEe SO
NP FO0D0
BKHS BIDES THOD SHTrA0D OB
DIFTRR), JOTHNEOR
A B C D
(1) I IT m Iv
@ m I vV I
3 IV 11 1I 1
(4) III 1A% I 11
R ETENO% H02050D B0d TES' IO
SHHm HONFO0D ?
1) eRrSEE : Jcsed $9)¢ DS
Sooned

@) S0DDE : T RETE TS FDH
@) $HTe: 9S-HITO DRSO
@) Sy IO TOR DO

DT HIFOADO
Sehoody ©020800 85V DSOS
$80otS0s :
1) S e HT0S0CR-1

20T .

A GOSN “HEBTORSS” &
DSocac HBOTTR-
raora] SrQVO & 330”0‘3‘@)-
ordol&- KOS FRT

BT

(2)

(3)
(4)

Scanned with ACE Scanner


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Addai247

GS/1G/100

13-

14.

15.

16.

Quwwat-ul-Islam mosque in Delhi was built

~ by:

(1) Iltutmish

(2) Qutb-ud-din Aibak
(3)  Ala-ud-din Khalji

(4)  Ghiyasuddin Tughlaq

Tl_l_e Persian traveller Abdur Razzaq visited
Vijayanagara in the reign of :

(1) Harihara-I

(2) Deva.raya-I

(3) Devaraya-II

(4) Krishnadevm-aya

Match the following :

List-] List-I1

(Bhakti Saint) (Area of the

' movement) _

A. Vallabhach:'atrya I. Uttar Pradesh
B. Tulsidas II. Gujarat
C. Sri Chaitanya III. Bengal
D. Tukaram . IV. Maharashtra

Choose the correct answer using the codes
given below :

A B C D

1 I I m I
2 II I v I
@ m I m v
4 1 IV I II

Consider the following stat‘,emt_ents on Sher
Shah’s land revenue administration :

I Land was classified into three categories
on the basis of produce from the land.

II. Land was measured according to a
uniform system.

III. V4 of the produce was collected as tax.

Which of the above statements are correct ?

(1) IandIl

(2) IandIII
(3) IIandIll
(4) 1,IIand]III

(8)
13.

14.

15.

16.
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GS/1G/100 (9)
| 17, 800 DS QT oH ABKBOOR

1. 390 D vSre

17. Consider the following Mughal structures :

L Tomb of Salim Chishti

NS Te TA N )
. Buland Darwaza i o se

PN 3
III. Tomb of Humayun Ll R i

IV. 275 SHdd .
o szwod 38D e FoToS

IV. Jami Masjid

Which of the above buildings were constructed

during the reign of Akbar ? Q80T ?

(1) IIand III only 1) T80 T Sriebadd
@ ILMlandIV | (@ I, III 805 IV

3) * LI and III _ (3) I, II00ackw III

@ LILIand IV ' 4) 11IIL I Hoasw IV

18. Match the following :

List- ListI 18. (806 3D HOF 08 :
(Name of the (Position. of the
Ruler) Ruler) ; 2] aresI1
A. Husain Ali I. One of the Saiyid ( Qoe_)gj D DD (D F50)
Khan brothers . :
v miditat T Ay X A -SVOSe@d L DS
. Murs uli . The ruler o , _
C. Chin Qilich L The Nizamer | 1|70 B. 0@ HO | I FHomS ot
Khan Hyderabad _ EVEN) |
. The Nawab of. I ! N L &Terd Q0
D. SafdarJung ey ke C. DS80S ord ML

D. 9B z0h IV. ©38 S

Choose th rrect answer using the codes
g - BN BI5DAS FHOD GIAVrNOD B

given below : . ;
DT, DOTDT0 |
A B C D
A B C D
1 T v
5 ! . 1 I II 111 v
III
4 1Iv 111 11 I 4 v 001 I I
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19; Match the followin_g 19
List-1 .
(Kakatiyq ruler) z;f-nt /
en
A. Rudradevy I gﬁ?fi’:ibuglon)
v ng e
capital from
Anamakonda to
Orugallu
_ (Warangal
B. Ganapatldeva II. Thouﬁd )Pillar
" Templ uilt
C. Rudramadevi II1. M:ﬁi mz
expedition
D. Prataparudradeva IV. Marco Polo’s visit
to Coastal
Andhra

Choose the correct answ

- :
cives Balow: r using the codes

n 1 Il I Iv
2 1 I . IV II
@ IV I I I
(4 m v 1 I

Identify the correct chronology of Later
Mughals :

(1) Bahadur Shah > Farrukh Siyar >
Jahandar Shah > Muhammad Shah >

Shah Alam-II
Jahandar Shah. >

Shah >
(2) Bahadur Farrukh Siyar >

Muhammad Shah >
Shah Alam-II
Jahandar Shah >

>
(3) Bahadur Shah Muhammad Shah >

Farrukh Siyar >
Shah Alerl Shah
. Jshandar Shah->
Muhamm
Bahadur Shab

20.

8o& &¢3 HOFYOG:
Dl | zrdeIl
(s78EaD (50DES]
eSO SV
A. BT L edHTos
o LN
(S50K5D) 5o
QR ARAIN IOV
B. KodBych L Sow Q07T Hd
' © QUMEIO
C. BBHTY . S8 526
fnYole oMy 2]
D. (HEHHSBI®IV. oS’
S8, S
: DG5S
BHS VSRS FHOD GIOBrA0D OB
DSPETTR), DoHE0S :
A B C D
1 I II 111 vV
(2) II I v 111
3 IV Im. 1 I
4 I v I I

LTSIV WS e WIS T ST PN S TNV Y
H8ood :

(1) 23700 ar > PEFYP DOSFD > 85086
T > SIS A > 2r ese>o 11

(2) 2D A > BIPONE T > SWFE
ar > DEFP VOIS > F >0 11

@) 2D X > BFoSE T > HE-D
ROSE > DTS 3 > 2> esero 11

@) HEP OB > mTosE >
ANaTANE A > > SOO-II > HI5°EFE =
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22,

21. :; Shivaji’s Eldministration, Dabir was :
s :
= tgffi(:er responsible for intelligence,
" and householq affairs
2) The in- justi
grantl,: charge of justice and charitable |
3) The Correspondent to the king
4
4) tTh}le Mas.ter of Ceremonies and helped
e king in foreign affairs
Identify the c |
! orrect i
establishment of French settleg:fiilso 1:0gy "l
(1)  Surat > Pongich '
e :
Karaikal L e
(2) Pondicherry > Y I
i anam > Mahe >|
. Karaikal > Syrat : :
(8) Surat > Pondicherry > Mahe > Karaikal |
> Yanam '!
(4)

23.

> Yanam

Consider the following Indian statt_aé :
L Awadh

II. Jhansi
III. Satara
IV. Nagpur
V. Sindh

Which of the above states were annexed by the |
British due to the policy of Doctrine of Lapse ? |

(1) LILIMandV
2 1,IIand IV

3) IIIIand IV
(4) II,1I,IVandV

I;:lentify the wrong matching of poets and|
2. :

their languages in the 18P century :
(1)
(2)
3)
(4)

Tayumanavar : Tamil

Warris Shah : Punjabi
Kunchan Nambiar : Malayalam
Dayaram : Marathi

Pondicherry > Mahe > Karaikal > Surat

(11)
| 21.

22,

(4)

(1

(4)
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25 Consider the following_ statements on the
" contributions of Pandit Tshwar Chandra
vidyasagar :

I. His great contribution was for the|
upliftment of women in India.

II. He organized a powerful movement for
the enactment of Widow Remarriage
Act.

II. To propagate his social ideas, he
published Sambad Kaumudi, a Bengali |
weekly newspaper.

Which of the above statements are correct ?

(1) TandII

(2) TandIII

(3) IIandIII

(40 I IIandIIl:

26. Which of the following statements is|
incorrect on William Bentinck’s reforms ?

(1) Introduction of a new land revenue
system in the North-Western Province

(2) Abolition of ‘Sati’

(3) Eradication of female infanticide

4) Establisﬁment of universities for the :
first time, j

27. Consider the following events :

I.  Swadeshi Movement

II. Surat Split

I1I. Lucknow Pact

IV. Home Rule Movement.

Which of the above main events took place |

during the extremist phase ?

(1) I IIandIII

(2) Iand]IIonly
(8) IL IIIand IV
(4) | I II, IIT and IV

(12)

25.

4 26‘

(4

217.
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1508 D0aEIdOD 0ONEIOTI0B -
L 0583 &S50

I rds DO
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(1) I, 11 H8asw III

(2) T8 I Sr{edad

(8) II, IIT SH80%0 IV

(4) I II, IIT SO asw IV
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98. Consider the following events :

I. V- - 3
181t of Simon Commission to India
II. Purna SWar aj

i resoluti
- ution at Lahore

III. Launch of Dandi March

:{Vh].Ch of the above majn events took place
uring the tenure of Lord Irwin ?

(1) TIandII.
(2) TandIII
(3) IIandIII
(4) I,II and ITI
29.  Consider the following Revolutionaries :
L Bhagat Singh
II.  Sachindra Nath Sanyal
III. Jogesh Chandra Chatteljee
IV. Ram Prasa& Bismil
V. Chandra Shekhar Azad
Who among the above founded ‘Hindustan
Republican Association’ in 1924 ?
(1) I,IIandIII
(2) 1II,IIandIV
@) ILII,IVandV
@ 1, IIandIV
0. Which of the following i,S? wrongly matched
regarding ‘Praja Mandals’
(1) Vijay Singh Pathik Rajasthas
(2) Balwant Rai Mehta : Madhya Peepct
(3) Sewa Singh Thikriwala : Punjab
(4) Sarangadbar Das : Oriss?

28I

29.
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31.

is/are valid regarding. the office of the ‘ley’ ?

I

Select the correct answer using the codes
given below :

(1)
(2)
(3)
(4)

5/16/19°

which of the following statement/statements

" All political parties — whether ruling or

~ leader of the House but is responsible

Part B

ution, Polity, Social Justice and
International Relations

Although not mentioned in the

Constitution of India, the office of the|

‘Whip’_has however been incorporated in
the Rules of the House by the ‘L;&ers
and Chief Whips of Recggnise_d_:_?m‘!;i_es
and Groups in Parliament (Facilities)
Act, 1998,

The role of the Chief Whip of | the
government party in the Lok Sabha is
served by the Minister of State for
Parliamentary Affairs.

opposition, will have their own Whips in

the Parliament.

The Chief Whip is not responsible to the

only to the leader of the party that has
appointed him/her to the office of Chief
Whip.

Iand IV
Only III
IT and III
IIand IV

(14)
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57075000,
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32.

Statementjsmtements that is/are valid :

L A Private gy which has been

ntroduced by a Member of Parliament |-

sitti i iti
YNg n the opposition and which has
b
€€N approved by the House will have to
be referred to the law department for
consultation.

Il. A Public Bill is always introduced in the

Parliament by the Minister or a member
of the government party.

III. A Private Bill will not reflect the policy

of the government but upon its approval
by the House, a Private Bill would have
reflected the policy of the government.

Public Bills and Private Bills, reggrdless
of the diﬁerences between them, are
governed by the same general procedure,
and are required to be passed through

the same stages in the House.

Select the correct answer using the codes

given below :

(1) IIandIl

(2) L IIandIV”
(8) Onlyl ~»

(4) OnlyIV~
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G0N
2.8
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DI DSET.

II1. 2,8 PR DY 10aDSS DT
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93.

which of the following State Bill/Bills will
pave t0 be mandatorily reserved for the

president’s consideration ?

L A Bill that proposes to give effect to

certain Directive Principles of State

Policy.

IL

sanction but which was however not

obtained under Article 304.

III. A Bill that attracts the provisions of
Article 288.

‘IV. A Bill seeking to operate a provision

that belongs to one of the Concurrent
List entries, but' which is however

repugnant to any Union law.

Select the correét answer using the codes

given below :

A Bill requiring prior Presidential

(1) IandIV
(2) I,IlandIV
(3) Only III"
4) TandII

33.

Q

808 TBS' D TR DA TRy
2890580 8D INBM 828 § TS 9

L TR o8 020800 &1,

e8I Sr@OdD e@Hen ToHme
DBTEOT DeY.

II. Swoddr O laded SIE0
 @93380TDS DeY. oS b 055
304 (D560 FOBVHSIB.

L. e83S 288 S'Q Q0SIOS
O NOT DEX.

IV. &8 ode WaTos 258
ToOS AVOBND e TOASTFOR
Seoese ?‘D@, OB O AT~ Sod
SEFRE D%S0.

BHS BS50BS FHOD GITrAoD I
Xaért;'wal DoTHEOS :

(1) I8 IV
(2 L1100 IV
(3) I S

(4) 1608w I
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34, Consider the

fono“’i“g statements  in

connecti :
100 with the office of Comptroller and

Auditor General of India (CAG) :

I. CA
G can be removed by the President

only ;i
Y In accordance with the procedure
menti i
loned in the Constitution but this

d &
088 ' not mean that the CAG can be

im
peached from office in the same

manner as a Judge of the Supreme Court. I

Some public corporations are audited
exclusively by private professional
auditors, and the CAG may have no

involvement at all.

III. The CAG can conduct legal, regulatory
and propriety audit but not performance

audit.

IV. The Constitution of India has not
specified ~ any criterion  for  the

appointment of CAG.

Which of the above statement/statements
is/are valid ?

(1) TandIII

(2) Only v

(3) Iland 111

4) MandIV

(17)

34.
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GS71 G/100
35. 1 At m :!
" N connection g % >
. H&), (GST) &
(GST) C e Goods and Services Tax | 35. NESVEVISS o6 e . : ‘Q.ﬁ@
o ouncil Which of the following %9 H020H0W, 8od ¢3S 9
ement/st .
atements jg/are valid ? L;:)g&)éf@gmé@ TENeTEN YTOW ?
1. e I [ATATAFS VN EPS TP
The GST Council was established as a L 2DV TS 28 Ll o

Statutory body, but it was later turned
1,}nto a Constitutional federal body by an

0GOS, SV SAOTS T

D388 o sor Tmes§ols D3rPS§ HdoPm

amendment of the Constitution. S8 y0B08.,
. i ¥ o Se,
II.  The proceedings of the GST Council will I §S AT 28 i
be invalidated in the eventuality of any Qcﬁbaloééoés Nlatyy Sdo

defect in the appointment of a person as

a member of the Council.

DEIAID I a&"coés FA)O g,
SO (DN SVENTBILAAY s';'g_).
23 DD BOD S0V DB

III.  In the event of any dispute between IIl.
more than two states over GST issues, oiTe S¢S BT TS0 SBIS,
the GST Council has to refer the matter 2358 FAISH  TODoEn A
sudicated by the Public Accounts
oy becadindicaine Rt ' @T0oS) EMed  BH) T
Committee of the Parliament.
DO O.
IV. The GST Council is required to make IV, 2096 IS &858 Ty (rsod
: to the Centre and the —
recommendations to B (BXD) HOWBD Todvo  SHOAW
 States on the threshold limit of turover )
: o° n O
below which goods and services may be | (CUEER DAY asd
\ FPORIGST GOLNOD, T 0B VS HNI
mpte
B - DO  DIOSH  BIDG  od
t answer using the codes 5
Select the correc VOISR RS
given below : OMS BIFAAS FHO% SHTrA0D DTY
I QTET), D00 ;
) Handl |
(D I8 I1
, @ [and IV (2)  I8akw IV
| (3) Only
| 4) 1830
@ oY 0

-
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36. Consider the

referenc
© to the Election Commission of India :

L The Constitution of India has debarred
the retiring Election Commissioners
from any further appointmen;t by the
government,

IL.

In ‘Anoop Baranwal Case’ (2023), the
Supreme Court has directed the
Government to . treat - thp; Regional.
Commissioners on par with the Election
Commissioners (other than the Chief
Election Commissioner), as far as

removal from office is concerned.

III. Since its inception, the Election
Commission had functioned as a

multi-member body.

IV. The power of superintendence, direction
and control of elections to the ofﬁég of

Vice-President of India is vested in the
Election Commission.

Which of the above statement/statements
is/are valid ?

(1) IandII

(2) OnlyIV

(3) Onlyll

44 I1,IandIV

following statements with | 36.

GET IT ON
Google Play
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I ‘@drD 286 W (2023), DS
S0 Sofod dacwoS (oA
ENASBOL AL EMAIIS (DTS
ANED EMASE TEOE)  DITSOT
HOKBOTOD M@oY DB
eTB330008.

IIL [*S025I0)E3 D0&, A8 SO0

- DHVY DD HODOTT DATR0H.
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Gs/16/100 (2o
g7. In the context of Centre — State Relations, |87
which of the following Statement/statements
are valid ?

L

II.

III1.

Select the correct answer using the codes

given below :

(1)  OnlyIII

(2) TandIII

(3) 1II,III and IV
(4) LIIandIV

Punchhi Commission had recommended

that the ‘procedure that ig

the remova] of President should also be

applicable for the

Governors ag well,

impeachment of

The law that 18 made by the Parliament

with respect to any matter in the State

F . ® 5 a
List in relation to the State in which

President’s rule is imposed, cannot be

Té-enacted by the State Legislature after

the President’s rule is ended.

The Sarkaria Commission was not the
first to recommend the establishment of
an Inter-State Counecil.

Only the Lok Sabha can pass a
resolution declaring that it is npcessé_ry-
in the national interest that the
Parliament should - make laws with

respect to Goods and Services Tax.

followed for| -

. Bo(G0-01R  HoWOGTe VIO, Sog
BSOS/ (DEOSOS D Tepy

€90)E° O ?

L

II.

III.

@OBS Ol DOMSD

GET IT ON
Google Play
. |

N

ORDD  FoNoPIKH  ©NH8Gy
ATV, H9818 @DIOISH S
SBOJIBATrOD Hod EWAS ?o;m“)
T0A.

TP lRdS POS O0BDBS O3P8
Do0RoD TR DS gy
®OFTAS  QOVOROD  FTRvosy
Erro0oDS B$HOo, TIRIS Fers
SOAVS ST 5 TR TS oS0

S0P ©30e0 D%H2csess.

Ao ATANY
ATRY TAS Inse3d Slopp¥elo\y
EANAN 5°¢.

AN (HTrBT csl,go;r’,g NIV
D) Fv OO0
VEOD EFFOBONB0  ©9I5HB0
(08e30T é@gm‘bg 05659\')2:).&'))‘@3)
SIrQoNO.

NO20H0D)

BMNS VSRS FHOD &ITrAOD OB

DT, 0HE0A
(1) ISP

(2) I o8a%w III

(3) II, I 8™ IV
(4) I, I SH8A%w IV

P
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38. Consider the
connection g th
revenues betw%n

L.

f(‘l“t}\l\ri“g

_ statements in
the

i distribution of tax
The Proceedg 1€ Centre and the States :

levied op ta;: of the Surcharges that are
Article 9gg ©s and duties referred to in
COnstitution :{P - Ar ticle 270 of the
between the India, would be shared

II.  Article 26815 entre and the States.
Constitution 04 Article 272 of the
by same Con Of-‘ Im,lia were both repealed

II. Tax on thonstltutlonal Amendment Act.
levied b tﬁ sale of petroleum crude is
States, Y the Centre hut collected by the

Iv.

:II:::* ?ﬁiﬁ;"cjigs of tax categories that

c o er Article 269 of the.
onstitution of India, do not form a part:

ks of the Consolidated Fund of India.

isfar(;hva(l}ifd ;he above statement/statements

(1) IIand IV (2) OnlyIV

(3)  Only IIT (4) IandIII

Which of the following statement/statements

is/are correct in relation to the Human Rights

Commissions in India ?

L The role to undertake functions relating

to human rights in the Union Territory
of Ladakh may be conferred upon a
State Human Rights Commission by the

Central Government. |
Only 2 persons can be appointed as
members of the National Human Rights
Commission under the category of
possessing knowledge or (
experience with respect to human rights..
The President can remove thd

Chairperson of
Commission 0n
misbehaviour- However,
has to seek the opinion
Court in this matter.

National .
'ghfnmission is not empowered to inquire
o

i f two
: ter after the explry 0
into anfyoglaa:h ", date on which the act
year:i tJting violation of human rights is
cons

alleged to have been committed.

Select the correct 879
given below : (2) 111 and IV
(1) lemelv 4) 1,11and 111
8 Only

II1.

the ground of proved
the President
of the Supreme

Human

practical)|’

the State Human Rights

Rights|

gwer Using the codes’

(21)
38.

39.

GET IT ON
Google Play

B0IL50 OGN OMarer adds D) T
HONEAE  Do20HOD  (80H  (HELSOD
HONEIodob

I 278 orersonoes esid 269 HOW
68035 270  HrDoDS  Hd)en
L8050 MoseOR DOHONS HETR
SO0 OO0 HNOOW T°laFe NG
PTeInTATx NV oTAR

2rdes  TrersolioS’ @S 268A
S8 eSS 272 Bocky 2.8 T2 30l
D3B8 O T30 B TOHDFOW.

L DEOCH0 15T @80 DY
o0 DON0H R TEFED HATED
Trow.

2786 TersotioS R eQES 269 Sodsw
ST D) ST DS BTrado, oS
S YOTBBE HoBS 2760 5.

2 DEOLS / 1HEOIOS” IO/ TLRLTED
9:HT*oN ?

(1) 1080 IV @) IV Sread

(8) III S»|edadd (4) I00as» I
rESTFOS D SIS T EWASOR
2020500 (808 HELS /Do
DA/ OB ? '

I BoldTrds (oS0 o%DS XSS
FEOL S00B0NS VDHOH TV
D5 ToOS (DDS0 TR QD
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0O EAX e
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DA0HOE' TRID Ny
Do) BenwErd) God.
4TSS By G000 WO§S
A 8FD0DS BO Dod BoT¥
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(1) 6B (2) 111 003 IV
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40. Which of the following statement/statements

can be attributed correctly to the exercise of
Delimitation ?

IIL.

III.

The principle of ¢ One man, gpe vote’

reiterates the neeq for the exercise of

Delimitation_

The Government of India cap set up a

Dehm1tat10n Commlssmn

for the
Purpose of delimitation of
Parliamentary and Assembly'

Constltuencles in a select few States or|

UTs.

The Delimitation ‘Commission can only

recommend the

territorial Parliamentary and Assembly

Constituencies but cannot recommend

on the reservatmn of seats for the

Scheduled Castes and Scheduled Tribes.

The Nodal Ministry for the Delimitation
Commission of India is the Ministry of :

Law and Justice.

Select the correct answer using the codes

re-delimitation of.

(.22)

40.

given below :

1) I.’ IT and IV

(2) ITandIII

(3) OnlyIV of
(4) LIlIandIV

GET IT ON
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(020ed co DB £292388 DA

oy Babs sy,

DO 5252309 AR ESRAL
- PEDoed 0805 &R0%)

Q@ra&éé?o DO SIS S

VDIED FHser&y SR AT

Ve Hoamw naErsS Bre )
028 505D VIS DA,
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DOBSs T SO HBAD AP
aDO(e3eh ¢ T,

BN A58 FHOKD GHErA0D IS
RAFETR) JoHEod :

(1)
(2)
(3)

(4)

I, II SHdasw IV
IT 8w 111
IV (¢ 3

I, III So8ak IV
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India’s
A
ct East Policy was originally

conceiy
ed a
S an economic initiative but

had |
ater extended into political,

strategi
tegic and culturg] dimensions.

I The ‘Connect Central Asia Policy’ has
been  taken forward with the
institutionalization of the ‘India-Central
Asia Summit’ mechanism.

III.

Under the ‘Security and Growth for All
in the Region’ (SAGAR) Policy, the
DRDO initiated the Marine and Allied
Interdisciplinary Training and Research
Initiative (MAITRI) for the purpose of

establishing long-term collaboration |

with countries in the East Asian region.

V. India’s Think West Policy is an outreach

to the Western Industrialized nations

for strengthe

education and defence.

ning of relations in areas of

_ -
Which of the above statements aré valid ?

(1) TandIl

(2) 1,11and v

3y Iand 111

4 miandTV

GET IT ON
Google Play
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TRTVE QY FTOST 2ROV AHO6,
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DANBODOD.

IL ‘90805 -S0%s oS 3T DONY
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BHIT2E08.

M, {ososS ©o0x08 aHed HOA
398’ (SAGAR) G0 8005, &)
s (T35 Brod HFsOs
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HIWS  HOED DO 2080
AJRSE  (RoF ok 88
223HE3S (MAITRDA) (2*E0DO0V0H.
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(2) LIII B0 IV

3 1II LB 111

4 I LHBow IV
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430

Which of the fo!]owing statement/statements
can best describe the nature of security
concerns/developments for India ?

I. The development of the Hambantota
Development Zone can be seen or viewed
as a policy of containment funded by
Pakistan.

II. India’s support in building  the

Chabahar port in Iran may serve as a

strategic  act to balance the

Chinese-funded Gwadar port in Yemen.

Indian Ocean Rim Association (IORA) is

an extension of the Economic and Social

Commission for Asia and the Pacific

(ESCAP) and serves as a platform for

maritime security. '

The Malabar Exercise is connected with

the Quadrilateral Security Dialogue

(QSD).

Select the correct answer using the codes

given below :

(1) OnlyIV
(3) None

III.

Iv.

(2) I and III
(4) Al

In the context of Central Government
programmes, which one of following
statement/statements is/are incorrect ?

L The objective of Pradhan Mantri
Anusuchit Jaati Abhyuday Yojana
(PM-AJAY) is aimed at reducing poverty
of the ST communities by generating
additional employment opportunities.

II. Under the Pradhan Mantri Shram Yogi

Maan-dhan Yojana (PM-SYM), monthly

contribution .is payable by the

beneficiary, the State Government and
the Central Government.

Under the  ‘FutureSkills  Prime’

Programme, Centre for Development of

Advanced Computing (C-DAC) is the key

implementing agency.

IV. Mission Karmayogi comprises of eight
key pillars that are intended to create
functional and behavioural competencies
among the civil servants.

Select the answer using the codes given

below :

(1) TandIV

(3) Al

I1I.

(2) I, 1I and III
(4) Only I1

(24)

42.

L DS ol
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In'the Context
. ' of (25)
&4' 'w’thh Of. the fOIIOWt]_]e Enactme
is/are valid 9 N8 Stage (:;]L':'f Budget, | 44,
L The /statements
Ppro
- ;E:;Omatic repealtlct;gushm carries an
. Provig; ©.
beco e ote .
re-sche dulinlneﬁ‘ectualon Account’ has
the lag ¢ dayngf the - e!:fter the
of Febrygpe Febmary E) thfeyfil - tﬁ;lom
1L Amendme . rst day
tax can HI::;.S ]tao Cither Teject or reduce a
Finance By °Ved in case of the
- ghe SXPendityrg |
onsolidateq Fung °har$ed on the
dlscuSSed_ of India can only be |
Select the corpe,
t .
given below - ANSWer using the codes
(1) IandIVv
. (2) Tandmr
- .
y (4) Only1v
45.

In _connectit?n with the veto power of the
Indian President, which one of the following
statement/statements is/are valid ? ,

L The Indian President possesses
‘Suspensive Veto’ in the case of Money
Bills but not in the case of Finance Bills.

II. The Indian President can exercise
‘Absolute Veto’ with I:espect to the
Government Bills at all times.

The Indian President enjbys ‘Pocket

I - .
II Veto® indefinitely whereas the A?o?ncan
President possesses ‘Qualified Veto'. N
IV. The objective of the veto power 11 being

Indian President is
iem of checks and
> ihe office of the
f the power of the

conferred upon
to ensure 2 SY
balances betWeent p
President and th2

Parliament.

ns
Select the correct 2
given below :

(1) OnlyIl
(3) IIlandIV

wer using the codes

) 1 1andIV
@ Omivl

(3)
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with reference to the Ninth Schedule of the
Constitution of India, consider the following

statements :
[ It was intended to protect Central and

State laws that are included in it from
judicial review on the ground of violation
of Fundamental rights. '
II. The entries included in it are not
restricted to the subject of land reforms
and abolition of the zamindari system
alone.

Articfle 31B carries a retrospective effect
but it has ceased to be operative after
the I.R. Coelho Case’ (2007).

III.

done so, by the power of the Central
Government. .

Which of the statements given
correct ?

(1) ITandIV
. (3) II,IIand IV

above are

(2) LUandIV
(4) IandII

The “Territory of India’ and the ‘Union of
India’ are two distinet and different

expressions due to which of the following| '

reason/reasons ?

I. The ‘Union of India’ includes just States
and Union Territories while the “Territory
of India’ includes in addition to States
and Union Territories, those territories
that may be acquired by the Government
of India at any future time as well.

II. The expression ‘Union of India’ is
mentioned in the Constitution of India,
but the expression ‘Territory of India’ is
not found in the Constitution of India.

The First Schedule of the Constitution of

India is with reference to just the ‘Union

of India’ but not the ‘Territory of India’.

The Union Territories are covered by the
expression ‘Territory of India’ and not by
the expression ‘Union of India’.

Select the correct answer using the codes
given below :
(1) Onlyl
(3) IandIV

III.

Iv.

(2) OnlyIV
@ I, IT and III

The entries incorporated in it are > only |

(26)

46.

47.
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Select the correct ans

~the fact that equality in India is not

The p]"ima
ey of equality g safeguarded,

defin
ed and enforced by the courts of law

rather th
: an by the Constitution as|

conceptualized by A V. Dicey

Articl
cle 14 of the Constitution of India

constitutes only the concept of ‘Equality
bef i
etore the law’ but does not mention the

concept of ‘Equal Protection of Laws’.

Article 194 and Article 361A of the

Constitution of India are indicative of

absolute,

The theory of equality includes
distinction of merit but not’ distinction
on account of hereditary titles or nobility

as propounded by the Balaji Raghavan

Case (1995).

wer using the codes

given below :
(1) MlandIV
(2) Iandll
(3) IandIII
4 TandIV
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49. Which of the following statement/statements

is/are correct with regard to the Fundamental
Duties ?

I Fundamental Duties are confined to just
the citizens of India with the exception
of Article 51A(i), which is also applicable
to foreigners that are resident in India.

II. The Verma Committee on Fundamental
Duties of the Citizens (1999) had
recommended the implementation of the
Fundamental Duties irrespective of the
existence of legal provisions.

In ‘Kesavananda Bharati’ Case (1973),
the Supreme Court of India held that
the Fundamental Duties may be used to
decide the constitutionality of laws that
are otherwise ambiguous to interpret.

The Sardar Swaran Singh Committee
had recommended for penalties to be
considered in the eventuality of
non-compliance  of any of the
Fundamental Duties. Ny

III.

\2

Select the correct answer using the codes
given below :

(1) IIandIV
(3) OnlyIV

2) IandII
(4) Iland IV

With regards to Directive Principles of State
Policy, what is the correct chronological order
in which the following additions/changes were
incorporated into the Constitution of India
through amendments ?

L. The adding of a second aspect relating to

Article 38.

II.  The changing of the subject-matter of
Article 45,

III.  The adding of Article 43B.

IV.  The adding of Article 48A.

Select the correct answer using the codes
given below :

M LI,
@) 1v,1,11, 111
@ v, 1,1, 11
@ 11V, 11,11

(28)
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. Consider thelfollowing statement
L The 25t1 B " -ments :

(1971) insgclnsntufmna] Amendment Act

first prOVisfozdwa new Article 31C, whose

the Supreme COES declared as invalid by

Bharati Cage (1971;) in the Keshavananda

. Th
11 e Supreme Court in the Minerva Mills

8159 sg)gim ;Onsidered the extension of
Articl pa o _the second provision of
icle 31C as invaliq as well.

The Su )
Case p(rleggg)cflurt in the Minerva Mills
. has  considered the
mmportance of hg
rmony and balance

between Fundam )

4 : VR ental Rights and
Directive Principles.
glshpI‘Fesent interpretation with respect

rhe lun(_lamental Rights and Directive
Prm' ciples is the same reiteration of the
principle that was first propounded by
the Supreme Court in the Chamapakan
Dorairajan case (1951).
Which of the statement/statements given
above is/are incorrect ?
(1) IIIandIV (2) II,III and IV
3 I IIandIV (4) OnlyIII
With reference to the procedure for
Amendment of the Constitution, consider the
following statements :
I. A private member of the House of the
Parliament can introduce the, Bill for

II.

amendment of the Constitution only after

the prior permission of the President.

II. Article 368 of the Constitution of India

provides for three types of amendments —

i jori ial majority and
simple majority, specia
rati?ication of half of the States by a

simple majority. _ o
ts that require ra }H:_a ion
III. For amendmen e majority, it

States by 2
f1);hfnl:)ft",th:iecess.ary that _all the SFate
islatures must take action on the Bill.
=i tures can pass a

isla
IV. The State L:‘f;ﬁng the Parliament to
n req 68 in the same manner, as

done for the creation or

bolition ©of Legislative Councils in the

abolit1

States. t/statements given
temen

Which of the sta

above is/are correct ? re L1 and IV

1 II and 1A% 4) Only 111
3), Iand 11

(29)
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Onstit.. .. 't under Article
n Stitutjoy, f Ind;
y part th DC ndia can
e
II1, "
ament’ fos
Constity g mited power g, amend the
asic JASo an element of the
Iv Stl'uctu,.e of the Constitutio::
- The '

S
Padma?;l:sms C"“‘Pt in the ‘Kumar
that the par 225 (1992) has declared

; te to build a ‘welfare
1’3 an element of the ‘Basic

itution,

ghr;;:l:; ?Df the statements given above are
(1) I, and 1

#(2) I Il and IV

(3) MandII -

#4) IIandIV

Which of the following statement is correct
regarding Parliamentary Privileges ? '

(1) Parliamentary Privileges are the
privileges that are enjoyed collectively
by each House of the Parliament, and
not by the Members individually.

(2) Only Members can be punished for
contempt by reprimand and admonition
but not outsiders.

£ h of Privilege’ has
(3) The phrase ‘Breac ‘
wider implications than the ‘Contempt

of the House'.

ars ¢ . be ssted durin
» Members cannot be arreste g
W g‘h]:- gession of Parliament but thig

jvilege is available only in civil cases
lrmd not in criminal cases or preventive
an

{ 30)

detention cases,
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GS (31)
o S e s s e o S5 s s s 100
. = win ) j P i 2ok
following staten‘:ent.f‘statementsb"? 2 (DI & 5T° D5OOLHHER,) ?
L Introduction and passage of Money Bills. L 0 HOe H850500 BN eBrEo.
II.  Consideration of the CAG’s report. _ II.  CAG JIBES HOKEISEE EHHO.
L. i;?ltial:t‘irng. the removal of the 1L SO0 RIS FerRosy [RrE0H0H0.
, A1ce~ esident. IV. TR0 oo Swrchd 850 DRPAIL
B . pprov;xl of proclamation of all the three DEESE @S0,
ypes of em : ;
" ergencies by th.e Premdel_lt. BIS ASHES Ehord GHTTAOD K)Qé
Select the correct answer using the codes
given below : QAFETTR), doHEod
-(1) ILIIandIV (1) I I OOk IV

(2) IIland IV (2) T8IV

+(3) All (3) Q)

(4) OnlyII . (4) 13S0

5. Which of the following source/sources of|36- 8o @mod  IShew/Kreros 8
revenue qualifies/qualify for being given to the DOTONBOZ  ASITAE  des / 0G5

Panchayats ?

, ) oH0B ?

I The tax proceeds that are asmgped l.:o L  Bol&0 S0 TEres 2P0 DAS
the States from the Centre may be again N 556 Bols RSy E0AS
re-distributed to the Panchayats as ‘;) d g 5 Ol© 2 - 5
recommended by the Central Finance ENEVOVN TS Jgorr DY
Commission. HOTOHBOL HONES TOHST).

II. Loans from the State Government. II. 07 (0205 50 DO LoEew.

III. Under Article 243-1 of the Constitution 1L 2roe 0°33: s010S" ?Qéfs 243-1
of India, the State Government is D580, TR DR EDAN V"IN
empowered to devolve its own funds to SESF oD HOTONBOH SS S0
the Panchayats even in the absence of DVOD Do T8 ool@
the State Finance Commission’s DEHE 308 ©OFE0 G0b.
recommendations. IV. 2083 2478O 580 _‘.;.1&';6"5@5

IV. Internal Resource Generation is Frozod &) HOTANBO
facilitated only in the case of Panchayats A oS Sy ©0 338 ISK®
situat;ghﬂ:l S;Cheduled Arons a5 perthe &b )8 OIS0 SoH2H0E.

i edule. v “
ROk using the codes . ONS BB ok GHATN0D OIS

Select the correct answer USIng v dothEod :

given below : DSFETRR), O o

(1) 1,1IandIII 1 LI &;Cffv

@ IandIV @ 1 éf )

(3) OnlyIl &) I*I&, 6”&

(4) None 4) o
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57. Consider
eason (R)th followyy,
and choggg the sertion (A) and
0

58.

Corrept
Assertion . ect code :
In  conp, .
ection :
collection, thq awlth their own  resource
are better plae dnclmyats at the village level

: ed th
Intermedlate and th :rIl)jﬂ:e' Panchayats at the
Strict levels,

: an
domain wherea;hayatsi' e thols jqun $48
Lo the other two tiers have to

depend on]
for internal regger 1025 2nd non-tax revenue

e ource generation,

(1) Both () and (R) are true, and ()
explains (A),

(2) Both (A) and (R) are true, but (R) does

not exp]ajn (A).
(A) is true, but (R) is false.
(A) is false, but (R) is true.

(3)
(4)

In connection with the lapsing of Bills, which
of the following statement/statements is/are
valid ? .

1. If the Lok Sabha has passed the Bill, but
if the Bill has still not been discussed in
the Rajya Sabha, then such a Bill does
not lapse. '

II. A Bill returned by the President for
reconsideration of the Houses will not
lapse. However, the Lok Sabha should
not have been dissolved by the time the

Bill is returned.

A Bill that is passed by both the Houses

IIL.
but pending for President's assent will
not lapse.

IV. A Bill that is pending in the Rajya

Sabha but which has not been passed by
the Lok Sabha will also lapse.
Select the correct answer using the codes

given below :
(1) OnlyIll-
(3) IlandIV

I, IIT and 1V
None

(2)
(4)

o

58.
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e ) L e

ich .
_V:/l;ri Uf. the following statement/statements
1 tncorrect regarding Law

Commission of India ? the

I It is a non-constj

body. tutional quasi judicial

II.  One of its functions is to communicate

its opinion to the Pres; ;
: resident on subjects
relating to legal administration.

Its reports are n
Parliament.

II. ot submitted to the

V.

It (ll-las No suo motu decision power to
undertake research by itself.

Select the answer usin; ) i
th en
e g e codes giv

(1) IIandIII
(2) Only III

(3) Al

(4) I ITandIV

Which of the following statement/statements
is/are valid with respect to the Preamble of the
Indian Constitution ?

L The term ‘democratic’ as used in the
Preamble is a mix of British Fabian
Socialism and American Populism.

II. The term ‘Republic’ in the Preamble
indicates that India has an elected head,
called the Prime Minister.

III. The ‘Liberty expressed in t:,he Preamble
is neither absolute nor qualified.

IV. The term ‘Fraternity’ as used by the

Preamble, originally denoted the dignity
of the individual only.
Select the correct answer using
given below :

the codes

(33)

(1) Onlyl

(2) IlandIII:
(3) OmlyIV'
(4) None .
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. Part ( 34
ndian and And])
* Pradeg Ec
: Plallning- Onomy and
m
reaffirmeq hE;S,hm i leac]mg & .
conomy e hgr Wth  for g&nme; gave
st ic of e Indian
rezgir:/enﬂstatements can h5 following
Teasons  for Indig’ be. the  best
growth ? as pm.]ected high
L Stron .
g PI’]Vate .
II Expenditure (PFCEI;ma Consumption

62.

capital ey 4
: pendity ;
‘Investment Te ‘towards private

Increase j : :

P el in df)mestlc air passenger

ki af‘f’;g :V;dth a reduction in the
e of Fast-Moving C d

(FMOG) g onsumer Goods

Fading of the EI Nino oscillation and

better Rabi crop prospects

Select the correct answer using the codes

given below :

ITI.

Iv.

(1) IandIV (2) 1II and III
(3) LIllandIV (4) Only IV

With regard to the progress of Digital
Payments in India, which of the following
statement/statements is/are valid ?

L. Promotion of Digital Payments has been

transferred from the Ministry of
Electronics and Information Technology

(MeitY) to the Department of Financial
Services.

e-RUPI is an institution-based vouclller
management system instead of being
person and purpose specific.

‘Hello! UPT is an Al voice-enabled

ilt by a consortium of
ent feature built by a ¢ :
g:i)g:be gponsored startups recognised by

the NPCL
«wPL LITE X
remote areas
pay]nentB.
Select the. correct
given below

1) 11andV

(3) Only 11

IL.

118

addresses challflangea of
v by enabling offline UPI
answer using the codes
(2) I and IV

(4) 1and1V

61.
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# Tourism in India hag
service sub-sector.,
statements are wvalj
sector in India ?

I. NIDHI is 5 technology-driven system

meant for providi :
N n, to
Hospitality anq Travel iidu:f:yvm?s
II. The Governme ’

India a ope trilli
rillion USD tourism
economy by 9047 with 100 million

international investors
11l l’ﬂgidl}lo_tel OcFupancy Rate has been
ap1d’y Increasing alongside a consistent
Tise 10 the average daily rate and
revenue per available room.
IV. India’s Services_ Purchasing Managers’l
Index (PMI) has been in the expanding

tl{rned out to be a key
Which of the following
d regarding the Tourism

zone.
Select the correct answer using the codes
given below :
(1) Ak (2) I,IIand IV
(3 ILIII and IV (4) TandIV

ik The Interim. Union Budget (FY25) has
proposed initiatives to -boost India’s Green

Energy Sector.
proposals are connected with developing

India’s Green Energy ?
I Viability Gap Funding (VGF) for
utilizing solar energy projects
‘I To set up  coal )
liquefaction capacity of 100MT by 2030 .
i Optional blending of Compressed Bio
3 Gas (CBG) in Compressed Natural Gas
(CNG) for transport and Piped Napural

Gas (PNG) for domestic purposes
ancial assistance _ for

v

it

Ountry

system in the ¢ wer using the codes

8?19& the correct ans
Biven below :

2 II and IV

nt has resolved to make|

Which of the following|

IV Provisidn of fin ;

2 procurement of biomass aggregation
; machinery ; curity.system
A . o payment 5€ em|
k f:)im:fpﬁgiig IJi;he bio-manufacturing
4

) 1y, 111 and V/
(

, av
® Imaavs @ "

63‘

| 64.

gasification and|
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65.

Which .
describ:; the following statement can best be

- as having resulted in the recovery of
India’s external sector ?

a : .
) .ﬁoi:atmn in India’s merchandis®
Sh!a)r grow.th in FY24 accompanied by &

p decline in India’s merchandise

import growth

with

(2) Increasing commodity prices

escalating global demand

Increase in merchandise exports and
imports followed by a decline in net

services receipts

3

Growth in world output outpacing the

world trade volume

4) |

r the following Assertio

Conside
ose the correct code :

Reason (R) and cho

Assertion (A):

s directed towards a'simple tax.

Tax refdrm
system wil
gains-

Reason (R) -
owth and employm ent

P gr
ving deadweight costs and
in resource allocation.

(A) and (R) are trué and (R)

. but (R) does

(2)

n (A) and | .

(3)
4)

(36
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Which of the follo
is/are  wvalig
Infrastructure Pi

wing statement/statements
Tegarding the National

Peline (N1p) 2
I. NIP includes onl

projects
projects,

b Y economic infrastructure
Ut not social infrastructure

IV. India Investment
has ceased to
instead ‘Invest
facilitating NTP.

Select the correct ans

given below :

(1) I,HandII,
3) Il and IV-

Grid (IIG) as a platform
facilitate the NIP and
India’ is presently

wer using the codes

@)
@

Only III
LIl and IV

Consider the following Assertion (A) and

Reason (R) and choose the correct code :
Assertion (A) :

Majority of the reported transactions on
e-NAM are intra-mandi instead of inter-
mandi and inter-state.

Reason (R) :

The Agricultural Produce and Livestock
Marketing (APLM) Act, 2017 provides for
progressive agricultural marketing reforms
‘that include greater focus on intra-mandi

transactions.

Code :

(1)

Both (A) and (R) are true and (R)
explains (A). -
Both (A) and (R) are true, but (R) does

not explain (A).
(A) is true, but (R) i8 false.
(A) is false, but (R) is true:

(37)
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(A) 8w (R) BOY® QA0 O
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69.

70.

The ; .

. strategic objective of Agget

rogramme may be explainedi-e.L Monetization
as;

(1) An initiati
on ;natwe‘ to unlock the value of
ents in private sector assets by

utilizing public sector capital

(2)

Involving an indefinite

lice
nse/lease of an asset, owned by the

period

ove
g : rnment or a public authority, to 2
private sector entity.

Facilitating an opportunity for public
asset owners to use new financial
structures by utilizing capital from

private sector investors.

(3)

Offering an alternative mechanism t0

the PPP model.

(4)

n with ISEBI, which  of the

ments is/aré valid ?
for

In connectio
following statement/state

I SEBI exempted regulations
' Investment Trusts

Bonds in order to

efficient infrastructure

financing through the capital markets:

. odu cod framework in

corporates will
5% of their financing

the
IL.
t 2
ipimunm ticket size

. se !
SEBI incred vand investment in order to

the issuance of

111. ati
Of sy 2 investor responmblhty.
ﬂco“r’: ng with the RBI introduced the
I alo
v SEBil p'rect Scheme:
ges T ct answer using the codes
th c0
Select :
giVBn lOWII
only
1)
Ez) g, o2 v
3) 111 and
(4) only ¥

(38)
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71. Consider the following Assertion (A) and|71. 808 &yd¥se (A) DB 5800 (R)
Reason (R) ang choose the correct code : DOMedosogy 0B BT SG™
Assertion (4) D0HE0A : N
India Stack’ hag enabled an online, paperless G9D$Ce (A)

d ]
and ca‘shless digital access to various QOB JrF’ DAG (DS HEAW
and private services, This has reduced the cost IS 7 )
_ IS D & 2
e e, | Q0K 8IBS, D00 Bared

DOAD SH Bres B28ereS AT I

public

Reason (R) : BS0DoD0. Ho& éa-ﬁé‘?\) QB s
India Stack consists of two interconnected Fi653 Bhek. |
layers, and of these, the ‘Payment Layer’ has 5820 (R) : ;
reduced the cost of conducting e-KYC, RO&AT F§ Bok QOLBITEE Sand
Code : ODEOA  GotNod HORw  He3eS®
W Both (W) and ®) are true and ®)| [ T20D BaWE KVC D657 poy

explains (4), =, $hodod.
(2 Both (A) and (R) are true, but (R) does| 5‘5_’ "

A T — | (D (4) DA™ (R) Bodr dzo $HBH
@) (A)is true, but (R) is false, . R 00 S563908,

fe & 2) (A) DHOA® (R) Bodkr Jadh 58 (R),

(4)  (A)is false, but (R) is true. (A) DIBOSSSy

3)  (A)Q220, @wond (R) ).
(4 (A) )), ©0ns (R) D230.

iy

ﬁ) Pick the correct sequence out of the following
ith regard to the present '

.' seq“efl_ces i :;t'o I‘1;:end:s (in percent:)ges)eliln' — B350 &, e

i 10n ,

| IIJnrz:alhng in SmodH @FES) 020800  Lod

A B HBS (E57d) DOTHEOE :

(1) Food Inflation > Headline Inflation D) e85 (BOINO0 > (DETS (3503600

Core Inflation

> 0[S |93’ se 800
(2) Headline Inflation > Fpod Inflation > @ DS S0 > B (S ge3690
Core Inflation . 5 B0l (&S00
(3) (Food Inflation = Headline Inflation) < @) | (@58 (3S50)00 = DTS
Core Inflation . (55%5)E20) < BOLE 13S0
(4) Core Inflation > Food Inflation (4) BoldS |BSSLHE0 > &% L€5§° $€)€20
Headline Inflation > DS Lé35§3mo
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74.

Bhara
t
Gov‘ €rnment ha er
; . S pl_ayed a considi 3b1—e
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Sele c?et?lded to include moong dal
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(1)  IIand IV (2) IandIII
(3) II,IIIandIV (4)" OnlyII .
. /s

Which of the following statement/statements
is/are valid in connection with Enhanced
and Service Excellence (EASE)

Access

Reforms ?

1 EASE Reforms are go_verned by a boa:rf_l
of directors, who are heads of premier
Financial Institutions in India.

had just one (01)
E Next programme
IL. Eifrity _ the Common Reforms Agenda
. ering excellence in c'ustﬁmer

i Deh?/ with digital enablement is one of
sew;cer ‘hemes canceptualized as part
the tou
of EASE 6.0 are ;ntended for both
EASE Reforms e (psBsJ as well as
- using the codes
NBF 5 t angwer

c
select the
b’ven peloW
o o

pd I
o LI?
3 1 and !
4) 1 and v

nitiative f  the
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[A]

Which of the following feature/features is/are | 75.

orrect . VOB-0% 20Acr HEso% ©020809
S I‘l.?gardmg Stand-Up India Scheme ? 808 DSBS 5E ereS* DE/AD HBSD ?
I z‘hé: .SChEll'le covers brownfield 1. Sa ;)q’)§o Lﬁfsg)@ QO&ELE}@?\)S Ién
entorpries  @long  with  greenfield TSP D068 ef erc €356 Fwod.
1Ses, Pt o
5 3 I. 0 A =
II. N0n~Ind1v1dual enterprises are also 2 R - ;e 2 b;gﬁ@éé

eligible to avai
scheme Provide
complied with,

gor drawal of Working Capital up to

i 10 lakh, the Same may be sanctioned
¥ Way of Cash Credit Limit.

Besides Primary Security, the loan may

© Secured by a guarantee of Credit
Guarantee Fung Scheme for Stand-Up

1 the benefit of this
d certain conditions are

III.

QoY Eree &s DGO DHBraTR)
TOTONEL e,

10 ©fo I8% H$6)08 S S (@
BAOTRE, SHES (3AS H62S o 3o
O™ 3&06&;&)3.

PGS PSS Few,  arsofoen
QRONODIEWIT, Fok-e5 0&05T
ST £30 &S ™5B0e3 Ho& S

III.

India Loans (CGRSIL) ot d, o (CGFSIL)  Gw%, B8 orsor
' Besi PEB e Ty the BETR) L S0 FahS),
oo pob, COTTect answer using the codes| AI$DBS EBODH GHTLAOD $BS
ven be : =
e i QAT DOTHFOR
3) 1,1 and III (4) Only IV —

Consider the following statements regarding
the RBI’s Digital Payments Index (RBI-DPI) :
i The Reserve Bank of India (RBI) has
" been publishing the RBI-DPI with 2021
as the base year to capture the extent of
digitisation of payments across the

76.

@) LIOOIT (4) IVSresH

RBI-G20S TOoHe &rd¥ (RBI-DPDE
QOVOHON (80 (HEEIO&) HOBBOSOA -
L. 0x05 ars0§ &9 =0A3S* (RBI)
Bi>sor  FOoHe — A2BELS
OB SOETSN TOHETAE 20219

country. R 0oL RBI-DPI Q (550808,
II. The RBI-DPI consists of 6 broad II. RBIDPI 6 &d-2roéey &on
paramet@P UG Gl WS DY FTWSHOD DN &0eN0s.
sub-parameters. | , I RBIDPI  (r803Dod)e8  &od
III. There has been a constant 'mcreasg n DEOSE0 EKSTD SO,
_ Fhe pgoB;-DPI since the time of its W REETE S T % S
ince . . ‘ 3 BoldDoNYy ©ID
IV. ‘Consumer Centricity’ is one of the bgesﬁirﬁwda K
parameters in the RBI-DPI. 258.

Which of the above statement/statements
is/are valid ?

2 1DEOS / HEOIOS’ DO/ T2rew
€96) O ?

o5 IV
() IandIV (1) 1IN

@ I IIandIV @ LI &0 IV
A e o (8) III OO IV
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Wil Wl ik
increasing credit - (be‘&)oﬁ
creation. & e)c!} "oé)
;N
; o, 8 £
i 5 . I &')ﬁ(ﬁ) DOSD D& (57§ 82308
: ash Reserve Ratio (CRR) applies onl¥| 5;;535‘)(CRR) &b AF2E B
to .the new deposit’ base while the éjnLéﬁ) b@@oé, oS
. Incremental Cash Reserve Ratio (ICRR) _‘;)é)mé)él S QO 3:12@
. s £, D,
specifically targets the new porrower ('Q*Z’ngft"o“-")es 5°5ed Bzbs DN
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component in the ,:ca;lculation of thf
1 Cost of Funds pased Lending |
M‘_“-gma - — - 2,& S0PSO Ayelel
Rate (MCLR) '
- A R ) arodoh 220¢  (MSF)
v, Margindl standing Fociliy M50} B O% Feod Bewr
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DEOSRE  $5BBEor rssdEio FNS)

SO0 Jo0s8 0, & (BoB |H%EE&
DBMedoSoh ! el

. In the context of In

. 78.
consider the following statements :

dia’s fight against poverty,

L Unlike the Global Multidimensional
Poverty Index (MPI), the National
Multidimensional Poverty Index (MPD)
developed by NITI Aayog does not make
use of ‘Alkire-Foster’ (AF) methodology.
Il.  The urban

L @008 250080 5368 Ird
(MPI) 58 s*%oocr, H& (NITI) es3BrBh
?i)b,)t; BSOS 2AAH  2IVWAAH
D08 Y (MPI) ‘@98 5-9965 (AF)

decline i Population witnessed a larger DPBD GIOBPAOIE.
In poverty as compared to the 0 (e =
rural population, g %;?@EE &_:*_5‘?:5"55 FORQ Qe vy &
III. 0RP™ § 800,

P;adhan Mantri Garib Kalyan Package
( MGKP) includes the coverage of food
grain entitlements.

The foltidimensional Poverty Index
.(M'.!?I) Is computed by adding the)
incidence of multidimensional poverty

and the intensity of poverty.

Which of the above statement/statements
is/are valid ?

IL DS o K825 Serges redses

(PMGKP) &350 orarser 8o 85828
GOotNod. | '

DIVNBOH DBBE D (MPD &
DIONBOH DNBE0 B DHSBEo
BwEy  BSSS  Shotdo oo
N3,

D (DSOS / (DELIOS” DB Teweren
€92)T"ON?

() TandIV (1) 159600 IV
(2)  OnlyIII. 2) T Sresad
(3) IandIII " (8)  I8asw III
(4) None are valid 4) 8 TOHX
79. JPD BOIPIS JIosO DY@

In connection with the Urban Infrastructure|

Development Fund (UIDF), which of the
following statement/statements is/are valid ?

L The fund will be established through
reserved bonds taken from the G-Sec
market. '

II. The fund is to be exclusively availed by

private agencies to create urban
infrastructure in Tier 2 and Tier 3 cities.

DES(UIDF) o080, (808 (D88 /

DZLSOS” DO/ TLTED )T OW ?

I.  G-Sec STB)E 0B SNEVES 828§
2T0C T°50° A8 F0WDRS0R.

II. 25 2 B O 3 oS Hye
OXTNN TETOD EraroBotEs
& O (HBg8orr |SS ABR)o 5o
0RO,

III. UIDF €50 ©d¢ O sesserren
III. Eligible activities for UI.DF: shall be  BsrTrEd SDOAS TALIINTONDS o))
connected to the Missions and Lo@ess T (MoHUA) 3B0Z) WA
Programmes of the Ministry of Housing <3805 SEIEITOR
& Urban Affairs (MoHUA). o 55000 GOLTAY.
IV. The fund will be collectively managed by IV & 26 S S0AINS  TeIBEDS
' a cluster of Municipal Cooperative ' 2 OB 500 k(s
Banks. 950520008,
L HAAOD DB
Select the correct answer using the codes IAJ V] @‘55@35 ggc?&@ & -
W, O '
given below : QAP @ 1,1 S0asw IV

(@ LandIV,

(1) OnlyIIl

(4) 1IandIII

1T (&b ad

(1) A IV (4) 1180k T

(3) 11,1120
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Agri-Byci under Startup s
usiness Incubatioy Programme JarOTICD.
I I Sr@esaso, QO a0,
- M : : 9 oy o
Rer‘l;;?mhlp’ Advisory, Assistance, Qa@mgé DO 9@ (MAARG)
! esiience and Growth (MAARG) Portal OO 0Qoh s0DAHSE
1S an exclusive

one-stop platform
intended for guiding startups in the
emerging Aritificial Intelligence (AI)
sector only.

Startup India Seed Fund Scheme

s (SISFS) aims to provide financial FEDOH BID 6D TR LS
assistance 1o startups for conducting BSOS 08 HIFOR0
proof of concept’ rizs 0908030 ©F 0T DEPFOE.

4o Scheme (FFS) for V. oo §90 H06 & Hody

IV. Fund af .Fu;eant to contribute to (FFS) 36 SEBIS® 82395 Scohadd
Startups 15 rnative Investment Funds DDE HESIyah s D S8
varions red with the SEBL. (AIFen) JTFsdo  ©0doRE RS
(ATFe) 78 6B052808,
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" s wer Uusiné the : B3 83506 TBow o 4 0D Rl
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(45)

C .
onsider the following Assertion (A) and

R
€ason (R) and choose the correct code :

Assertion (4) .

The :
National Product measures all goods
and C : ;
Services that arise out of economic
ackivi
Ctivity, whereas National Income is the

Sum of all incomes as a result of the

'economic activity.  These

two are

Synonymous.

Reason (R) :

The Production of goods and services is the
outcome of the use of capital and labour,
along with the raw materials, and this

automatically generates income.

Code :

(¢}

Both (A) and (R) are true and (R)

explains (A).

(2) Both (A) and (R) are true, but (R) doe§
not explain (A). '

(3) (A)istrue, pbut (R) is false.

(4) (A)is false, put (R) is true.

81.
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that developing
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8 must pot €xceed the 109 ceiling

lit@it for Public Stoc
initiatives.

The ‘Green Box’ prohibits the use of
direct payments to producers which are
not linked to production decisions.

e

The ‘Reduction Commitments’ are
expressed in terms of a “Total Aggregate
Measurement  of _.'_'sgﬁppoﬂ” which
includes all product-steciﬁc support and.

non—product-speciﬁc support in  one/.

single figure.

port that would normally be

u
Any SUP is not to be
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ans
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3.

C -
R:ns.'lder the following Assertion (A) and
ason (R) and choose the correct code :

Assertion (A) :

Coal washing  results

igrfileration efficiency and
_— :}ftg:ent ‘costs. However, the use of
€d coal in India is still limited.

Reason (R) :

: ;I:;e ];mlted. establishment of coal washeries
Wa :’h. € attributed to the perception that coal
ng by increasing the cost of electricity
generation, would adversely impact the
plants in terms of ‘merit order scheduling.
Code :

(1) Both (A) and (R) are true and (R)
explains (A).

Both (A) and (R) are true, but (R) does
not explain (A).

(A) is true, but (R) is false.
(A) is false, but (R) is true.

in increased

(2)

(3)
4)

Which of the following statement/statements
is/are valid in- connection with Sustainable
Development Goals (SDGs) ?

I Achieving Goal 10 will require an entire
reform of the financial system that
promotes equitable pay and decent work
for young people.

NITI Aayog has developed the National
Indicator Framework (NIF)  for
facilitating monitoring of SDGs in India.
‘Mission LiFE’ aims . to influence
government and industrial policy to
support both sustainable consumption

and production.

The mnc(?pt
embedded in

IL.

IIL

of global citizenship
Sustainable Development
DG 4) is a reference_term-that
Goal 4 5 flexible citizenship rights
tries . for the purpose of
g coull:etter labour markets.
Select the correct answer using the codes
elec
given below
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85. Which of the fol]owing Statementg are valid
regarding Human Development ?

I,

I '
G : f1l
br:ss Nat-lonal Income (Gn1) Per capita, 23 Fowd &) 00 Tren 5 ]
du | °nding  with different pymas AR EEIN VARG AR SIS L O
ev
- p‘; rC;];:n:aexﬂ: eutcomes 1s indicative of the S0ACHHB0 @DS5H@ 0T 598 QB8
n ’ » v
' o ce of growth oyer development. E NN ENTEINVPAVGATS Ve T
: country’s S6ore sn o I ©d3rdsn Do s KO -
In 7 1 o : v
: equality-Adjusted Human Development SHaren TODDAES IS 9ESHE
ndex (IHDI) ig not the same as its JrdE  (IHDD (D20  @dSrdds 1
Human Development Index (HDI) even BINYBE TR SS9 DSHR JSrdE '
when there is po inequality among (HDI) 58 €508,
people. HI.  Ool D39O DS (2AD)S, 1 0
id é ~, ,
III. In Gender . Development Index (GDD ?2"6 sendeh | Wie  Sow
values - below 1 dicate  high ’ Rarees oo @éf_)ég@&] SRR,
indic i
d oo bl IV. P800 (38) - oY, IS
evelopment for women than men. - o
Rty . BIODDOE  ROBF) (e SAED)

2 anetary Pressures__;edjusted Human ST© 55 ©OITFSS(ROSEBIBHS
Development Index _(FHDI) focuses on ‘ 0 Si‘l"c‘()e‘é‘)i) & a{;} D608, o
intergenerational inee_uality just the DBOT @D oﬁi“éé-é@w‘e.m 323
same way, as the Inequality-adjusted AP @DIYE - DS (T SAD)

Human Development Index  (IHDI) B80S IDE T BsrSie

focuses on intragenerational inequality. VAT T SNSRI ([0(&r3 SBASS
V. According to the Human Development OVTIH) ) e VB0,

Report 2021 — 22, a new uncertainty Vo S @Sy I8 2021-22

Select the correct answer using the codes

(48)

Tw i i
0 countries with the same level of

complex is emerging, which comprises of

three new concerns — planetary changes,

Bb.
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-5 of Healthcaye » adesh in the context HEOIOS’ DD Teeren ©ITOX
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& P N acility 5 available in all FoBond ©) &acﬁ:)i‘rgf ::;
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AT services thr .S) ._t" avail specialist (AB-If?VCs)
RNES ough district hyp, ©0cEENS’ OB
AR II. The Family Doctor Programme has been IL Q)@);;ao s DHSR PN
0% Planned  to be implemented as al. es8Hs ; fomos (TE)
5% standalone project without the need to ©3H0T0TOS BIVGO BT
9. be integrated with Primary Health 2§ Tobh 8 @EET eden
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:)) annum per family. . HGHE0 HIBPBONHDEOD.
S IV. ‘Aarogya Aasara’ Scheme is intended to | o I 6‘6; B 5586 EDy w8
| provide  post-operative  (EsieRsncel AOHOS SIHBAS 5085 E3STE
: allowance with  certain eligible| B35y ©90HOBETRE &G I0DDE0A.
2 conditions complied Wi BKHS B35S FhoX @H3ROD BB
¢ ot answer usiog the codes o -
< Select the €0 HIFETTR) HohEod :

given belo™ | 1) 15805 IV
) @ 1edV @ I, T &80 IV

@ LM nd ¥ (3 I S8 IV

@ e v 4) 1,11 80w IV
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87.

connection with

In transport  and

infrastructure in Andhra Pradesh, which of
the following statementjstatements

valid ?

is/are

I. Andhra Pradesh’s first riverine project has

been proposed between Muktyala and
Madipadu on Krishng river,

II. The Bhogapuram Greenfield International

Airport had been started with a corpus

fund that is sourced from National

Investment

(NIIF).

and Infrastructure Fund

II1. Infrastructure

investments in Andhra
Pradesh are strictly implemented only
with reference to strategic investments

like ports and industrial corridors, but not

with reference to community assets.

developed in Andhra Pradesh under the

Setu Bandhan Scheme.

Select the correct answer using the codes

given below :

(1) I,IIandIII
(2) OnlylV .
(3 IandIV
(4 Onlyll

Rail Over Bridges (ROBs) are being

(50)

87.
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1
#. Which W

of the f
ollow;
is/are ; ng Statement/stat, ts
incorrecs ements | gg

d — 2i &

I. To :
achiey .« .
25% by ; . Minimum eontribution of
{#]
y mdustry in the State GDP
I1. To . .
Prov
ide end-to-eng facilitation in
2 weeks
III. To envi
V1
Sage ten (10) priorities of
accomplishment
IV.

To focus on becoming a ‘Plug and Play

State’ for investments

V. Ensuring land allotment by APIIC
within a period of 2 weeks upon receipt

of application

Select the - answer using the codes given

below :
(1) 1,IandV

@ 1,0, med ¥

@ OnlvV

(4 mrend o

. SONES TOFNE drdo 2023 -278
~ Jow040D (8ob HILS / REANSS)
DEIND S5
I o2 GDPS NOFED 50 55D
| dires0 25% FOOSTRS |
I 2 oo dob-tn-d08 PVOBAS
©oBODETRE
TIL @mgéﬁ $020000S  H&  (10) |
| @”cp}_{?géoén &Fr0d0
V. tpadme £H0 OF @0 R RE™ |
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89. Which of the following Statements are valid in

connection  with Andhra Pradesh Green

Hydrogen and Green Ammonjg Policy (2023) ?

I.  The objective is to target Green Energy

production up to the Capacity of 1 MPTA
(Million Tonneg Per Annum) or Green
Ammonia production up to the capacity of
2:0 MTPA in the next five years.

II. New and Renewable Energy Development

Corporation of AP.Ltg (NREDCAP) shall
act as a Nodal Agency under this policy.

III. Al the Ports in .t:he State have |
infrastructure for storing liquid nitrogen
which can then be utilized for storing

Green Hydrogen for exporting to other

countries.

IV. The Policy prohibiifs the production of
Green Hydrogen/Green Ammonia by
using Renewable Energy and/or Biomassf
from “Third-Party/Power exchange’.

Select the correct answer using the codes

given below :

1) 11 énd II1
(2) IandIV
(3) I,IIandIll

(4) MIandIV

le

4TI S98a%y v
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OADS ) &) Y50 8y, hs
3G &e)8 S 20 MTPA s,
5880 1AS @D GBIV o,
BOFHGB0 @8 50.

I &5 @&  Bdrsdend AR
BIODH0E & )0AS 5
SODDT OWBE (NREDCAP) (5
DB HSBBPYAE ROES SEARNA
J0® AP. Ltd)& rod 808 X6

T BT S5SEN0B,

L o1R0S ) 4.B9S 5 ez
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BOOEAE(AS-. TE=S o
DAOERE GHTAOESD).
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TOD A NBN0E.

OMDad 295 §20&08 o anariod 909

NI oth&od :
(1) II 6% I1I
(2)  T8a% IV

@) I, 11 S8a% II1

»
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0.

(63)

Which

iS/are

£ :
of the following statement/statements

valid regarding the socio-economic
Status of Andhra Pradesh ?

I.
Andhra Pradesh won the Best State
Award of ICAR — National Research
Center for Banana (NRCB) for export
Promotion.

II.

been registering a decline in recent|
times owing to repeated lower returns in :

certain sub-sectors of the Service Sector. |:

III. For the FY 2024 — 25, the Revenue
Deficit is budgeted higher than the
Fiscal Deficit in terms of percentage of
Andhra Pradesh GSDP.

IV. The technology used by the Government
of Andhra Pradesh while conducting

resurvey of landholdings is referred to

as
Stations ( CORS)’ technology:

Select the correct answer using the codes
e

given pelow :

) 1adlV

Andhra Pradesh GSDP growth rate has|

‘Continuously Operating Reference |;
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DT K.
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@ T1500% III
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92,

1G/100

(54)
Part p
Geography
Following are the ; 91.
" 3 Intry .
1?.rolca.rnc activity ang t}?:;: landforms' of
eatures ; characteristic

L Batholiths :H
" usually <1 8¢ MAss of jgneqyg rocks,

the crust,
II. Phacoliths L i unds
arge igneoy i
- a dﬁome-shapqhd upper surf:crt:l.o ke
. l?gk;shd:- \f_a}i-l_ikg stru‘—c_tufé.;, developed
th‘@g;tou;?ng‘ﬂ?ﬂ |
IV. _Sij.ls 'I‘Pe near hoﬂiantal bodies of
Intrusive igneoyg rocks,
Which of the above are correctly matched ?
(1) L1ITang I
(2) LIand1v -
@ I MandIv o
(4)  LILIOand v

Consider the following statements :

I -Silicon and oxygen are common elements
In all types of feldspar and sodium,
potassium, calcium, aluminium etc. are
found in specific feldspar yariety. &
Almost one-fourth of the Earth’s

composed of feldspar and quartz. i
Which of the above statements is/are correct ?

II.

crust is

(1) ~ Statement I only

(2)  Statement II only

(3) Both of them

(4) None of them

93. Identify the inecorrect statement :

(1) Geomorphic processes brian about
changes in the configuration of the
surface of the Earth.

(2) Dial;t_r-;phism and  volcanism are
endogenic geomorphic processes.

(3) The gxzdogenic and exogenic forces cause

physical stresses and chemical actions
on earth materials.

Branite at the deeper lmw_l‘.si of |

(4) Orogeny is the continental building

process.

92,
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(4)
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M-  Soil 5 8%
facto ormation ig cont,
. rs rolled by the following
I'I p arent Mmaterig]
II‘ TUpography
I\:- Climate
- - Biologica] activity
Which i
ich of the abo
Ve are getj
1) L Iang 111 A actomn !
@) Tand 01 only
@) LILMangmy
95. Match the following :
List-
p éjt 1 List-II
. ouds) (Description)
- Lirrus I. Milky appearance
B. Cirrostratus II. Silky appearance
C. Cirrocumulus III. Cauliflower
structure
D. Cumulus IV. Small globular
masses

(3

Choose the correct answer using the codes
given below :

)

94.

95.

96.

A B c o
@ 1 O o Iv
(2 I I v i
3 v I Q1
(4) I v I 11
Consider the following statements : |
! Doldrums are the strong winds that
" have rapid surface mQVer‘nZnt;irecﬁun i
.H- z::thiﬁr;iiliptﬁeaf:i:;ﬁﬂhwﬁt_ )
Which of the above statements is/are correct ?
(1 Statement I only
(2) Statement 11 only -
Both of them *
(4) Non€ of them
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Identify the incorrect
extra-tropical cyclones :
(1) These develop in

latitudes.

(2) They do not have a cle

(3) They affeet 1 i ar frontal system.
the tropical cyclones.
| (4) They can originate over the land and sea

97 statement

98. Consider the following :

99.

100.

L Dry winter season
I Nodry season
HI. D ry hot Summer

IV. Dryand Very severe winter

Which of the above are
not the ch g
features of Mediterranean C]imatz ; Fastenehic

(1) I IIand III (2) L IIandIV
(3) IL III and IV (4) LIIIand IV

Guyot is :

(1) A mountain with pointed summit rising
from the seafloor that does not reach the
surface of the ocean.

A deep valley sometimes found cutting
across the continental shelves and slopes.

A flat topped seamount showing the
evidence of gradual subsidence through

stages.
A low island found in the tropical oceans
consisting of coral reefs surrounding a

central depression.

(2)

3

4)

Consider the following statements : -
In general, the terrigenous deposits are

L
' derived from the land and are mainly
deposited on the continental shelves.

II. From the shore onwards, there is a
gradual increase in the coarseness of the
terrigenous deposits.

III. The muds, the finest materials, are the
terrigenous deposits.

IV. The colouring of the muds depends upon

their chemical content.

Which of the above statements are correct ?
(1) LIIandIII (2) II, III and IV

(3) I IIandIV '(4) I,ITand IV

on

the mid and high

area as compared to

(56)

97.

98,

99.

100.

1L
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(1) QDY GDOSBerV) DHED
QB @RI OB BB
A8 BPB0SE’ Er@S HE g¢50.

FAQ POTTOBE @0t SHBAK
TO DT DOAY” ISF .8
S8 Sap.

A oS ESoom §mes Serded
LrYEr GOT 2.8 DS FPTR) &6
&0T SN[ HE 5e50.

GRDO%E HIVIWTOS 90T
S0 B Ho HHo, TR oS
SEY [0S0 DT &) DG

(2)
(3)

(2)

(3)

(4)

Q2O $O8 Gotnod.
Bod (DS D8edodo :
L rerdeom, irade JZdren 570

OB &BYN0D DB SIaxNleley
POT0SS OHOS JE Ny ow.
S50 0B, 2rEdS DIare WO
Benh®  JB3rea0) o
ROHSOA.

2088, STy, -
ZOHOSEDS D rew.
2B AB0E) S0 TE3 SADS
Q0NN NS BEFEXS &otnod.

2 (OIS DD DB ?
(1) LIIO8AW I (2) II, 1T S80S IV
(3) I, III H8asw IV (4) I, I 8w IV

II. HTFTe,

V.
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GS/1G/100
100, o (57)
er the f .
L The efeil]"‘,;’?;g tatements ; 101. (806 (HEerSeE HOHB0B0E :
forms a serie 1 Valley in East Africa 1. éj‘(j)g &3@)3"656(:} a]ué Hen C‘Scd))
Il Most of the e, ' (DEG &8), STeISVR(S) A3
IIL. Lake Malge, takes are fresh water lakes. DG HN0E.
the Rift V;‘;‘elyls at the southern end in II. & r‘()oa’ng@é‘ B0 erfio JHoDE3
IV. Lake Vietar:. . JEHen.
P Ri&“%’gg;:’ the largest one, is a part of ML SHerd OBM): - Hiben SaHheS
Which of the aboyg . 8 2230 DHES G0d.
1 1 Ve statements are correct ? IV. @338 @ond IFOOST d6DY, &
y S I e STOHS' 2.8 20

(2)  IL 11T ang v
® Lo and IV
(4) LI and v

D DELSES DD HBXD ?
(L) I, II 85w III

(2) II, III 805w IV

(3) LIIHOwIV

102. Consider the following countries - (4) I III &’DOC&J v
L Chile 102. (806 B3O HOKEI0SO :
II.  Venezuela _ L  3d
III. Ecuador ) I 3dzrer
IV. Peru L &S5
V. Colombia IV. 8
Which of the above South American countries V.  Seodair
have a Pacific coastline ? D 588 oS B S5 QS T
(1) I, IIIII and IV " ‘ EOR &) BFD A ?
(2 LILIVandV: . (1) L IL 1805 IV
(3) LIILIVandV (2) LILIVOHOa»V
(4) I, IIIand IV only @) LI IV 08w V

(4) 1T S8 IV S8

108. Identify the incorrect statement :
103. D857 D55 H8OOG :

(1) Taiga is the largest land biome in the 1) BT (DIoWoST  odd L
world. BTG NOBO.
_ 2) & W0 BTI80 DONDO GBS
This cold biome stretches across the > 2 =
@ north::n pc::tion of North America, GO, CArdD HBA BVSSFST
Europe and Asia. &S3 7o’ YBOD &od.
. @) & B0 SHoseos, Feseo
(3) Within this biome, there 18 2 narrow DHAAD I Tere NG we¥liiese
range of temperatures mgbetween the SEII0 Trer S80S GOVOS. |
winter and summer Season: - 4) & HBardde SHodewosS  SPreso
. ... i this biome is moderately A FBIT  DE0yR NGO
4) P?eclp:;?:‘zﬁ?g‘l::ut :he year with snow &otn0d,  FEseos o
high the winter months, HHN0B.

occurring during
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GS/1G6/100 (58 ) ‘665 r b
104. Which of the followi g . et OO LgO& DSOS 2 ;{)Q )
Himalayas are corre;:;lg statementg regarding | 104. ;5“555" on eI OSTED z:‘ﬁ‘@é 5050‘(}) ‘ﬁa
_ T 981D 00 DTS .:
S o Sy g | 53025 ™
Yy 1o i :
. T ; “onnkaiy, I 2D 5965 Schen)mr Sn8asy s
. th e)I:Tare "ide in Kashmir and narrow in | D‘l_‘?cés ad)sﬁ‘éaw GOLrQW. K
e orth-eastern states, : ML &) FUNVISTOW IS I T2 TN 3
III.  The folds of Great Hima]ayas are D5erd0 5O ol ¢ §OLC3 ‘:r
aS.meetncal in nature and thejr Gove is , Lﬁoﬁesg R Gotnod. j
Composed of granite, IV. &d)ed 8a NG '35"55"&)&'
IV.  The longitudinal valleys lying between DS BA) ANVe) VDb ¢ %,
Greater and Lesger Himalayas are P 0 @0erd.
OWn as Dunsg, ) AHS ASDAS FROD GO0y oy
Select the correct an DT OTHEOS : :
given beloy | SWer using the codes 1) I, TII o805 IV
(1 IT, III ang v @ LI é);’))a{jci‘?nla
* 3) LIII
: 105. S)S $5Q88e (D560 2rBSTIoTy b8
4) L 1L, I and IV ) | L TSI (FOTOD 25DES0A -
| Y ardeI D11
105. Match‘the following Climai;j_g_reg‘ions of India| - (T&SSe2 S550) ((roaey)
according to Koeppen’s schemé : ; - A, S50 A - 58 or
List-T ‘List-IT- ; -
Sb
J (Type of Climate) -~ * (Areas) _ 6:;??%‘ %?ééﬁé
A. Monsoon with I. - West coast of VDTN DB
short dry season India, south of B. & 359 e II. 8885088 &
: .Goa i : &é)v
B. Monsoon withdry II. Coromandel coast | o DITD ST
summer of Tamil Nadu ] %E‘S‘e_)o e III. &szes s
C. Monsoon with dry III. Most of BDSTen &
winter North-East India : , 2S84 Oﬁo
D. Semi-arid Steppe IV. Nm'-thwestern | D. a y 8505, 27 ;
climate Gujgrat - S DAY, 6@ IV, Of0%g Hhest
Choose the correct answer using the codes &% Neretine a3
given below : . y N EREEATRIN FRe E&HA3rAoW ¥
A B C D NIrETR) dothEod :
. A B
M 1 II m. Iv. s C b
v I I m
@ @0y g
3) 1 I v 1II @) 1m 1 v I
@ m v 1 I - - Wem o II
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107. Peaty soils are o

108.

| 109.0

the correc : '
t sequence in the decreasing order :

(1) 1 i
I?rtii;llfna} fBrahmaputra > Godavari >

(2) Brflhmaputra > Indus > Godavari >

shna

3) Indﬁs > God i ‘

2 avari i >

L Brahmaputrg g Knsbna

(4) Brahmaputra > Indus > Krishna >

* Godavari

ne Df t}le . 3 . ¥ b
These are found in : major soils of India

(1)  the areas of low rainfall with low
leaching activity, o Ui
(2)

tainfall with intense leaching. A

(3) the areas of heavy rainfall and high

humidity with good vegetation.
4)

the areas of semi-arid climate with

salinity. » '

In India, Sholas are :

(1) Tropical forests found in the Bastar
region

(2) Tropical evergreen forests of Andaman
& Nicobar islands

(8) Moist deciduous forests in the
North-eastern states

(4) Temperate forests in the Anaimalai and

Palani hills *

In Andhra Pradesh, Dharwar types of rocks
are found in : , :

(1) The Krishna basin,
(2) The Godavari delta region
(3) The Kurnool region

the areas of high temperature and high |

(4) The éhittoor and Nellore region

(69)

[ 108.

107.

108.

109,

<4)

GET IT ON
Google Play

[A]

arSsBiocs, Hom SO 100 wdDe
DBy |romR) 8ON @od. e go 368,
SB35 (E006S" DB 1800 (808 desormr
OO :

(1) D0 > (2257 > FFeresd > Eyar

(2)  (257)e > DOGH > oS8 > Eoar

(3) O > T8 > EYak > (225T)\e5

4) RIS > DO > 8k > Frrss

TESTIoSTD (DS JoF KPS Jod
HE3DAS Horgren (DeEd)ie DyB¥en 2863,
2 QEYCE EQDNOW :

1) S5S JITES ODoh asr§nes) &

SCAS  SES  SFS$o &Sy
(o en.
2 SSDS ITEIS @O et

DO OE SFFS0 &), |0 en.
DD IYED0NBS  @od @O
SIEIB0 DB ©OE BH &)
Erosren.

oSBaNSE  SrdS  >8E DNy
TEIB0 ) (oS eN.

3

2rSESTIOCS’, eren ;

(1) 200 FTosoS” 10T &Ro%e
©GHen

(2)  ®OBTS DB JFrE Ao
EoR 0GB Hebed O e9cheyen

@) &g TS B0 §rdd eHo S
aden) '

4) OJ[IB HOW JFY FoBOSV
QISR )N

So|QJBTS, o 5o Foen RS
QDO '

(1)  Eoar B ;

©2) Forsd BT (oo

(8) E&ryen (@roso
@)  DSFH HBAN FeS (@roso
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GET IT ON

(60) .

110. (808 T3 2SI6H0G Q
5‘“@&9‘-1’ a}rw‘?D@,_II
(SO &S (@oes .
SeSSTEN© o 4
e025arde o)

A. §600 I &8N

B. (ho& . 5O
(a3 s80

C. FEI® TIL. €539 A3 g

GS/1G/100
@) Match the following :
List-1 List-IT
(Wildlife (Enda
Sanctuary in specsegjgmd
Andhra Pradesh)
A. Coringa I. Great Indian
o i i Bustard
. Gundla II. Jerdon’
Brahmeswaram n's Courser
C. Rollapadu III. Saltwater Crocodile
D. Sri IV. Tiger
Lankamalleswara

Choose the correct answer using the codes

given below :

A B
1 I II
2 I I

3 m I
g m

ﬁ. Match the following :
List-I
(Hunters/
Nomadic tribes)

Pygmies
Masai
Semangs
Punan

S awp

Choose the corr

given below :

A B
a1 I II
2 U I
@ m - I
(4) I IV

C D
I v
v I11
v II -
I IT,
List-11
(Region)
I. East Africa
“II. Congo basin
I11. Borneo
IV. Malaysia

oct answer using the codes

C D
11 v
AY II1-
v II

1 II

D. 2 ©0808%58 V. 5O

B85S aS50AS SROD GO

e | R & 4 I

Google Play

BEPETR), DOTHEOR !
A B C D
1 I II III v
(2 II I v III
(3) III I v II
@ m v I 11
111. ($08 & 250808 :
el a1l
(Teoreb/! ((aroe30)
Sord Siev)
A, e L Srd) s@s
B. Ao II. soff BA®
C. Sroh) I 56,3
D. IS IV, SHSa0Y
"ﬂ-’:’
BHS 2S5 dS FGOD aHarioD
BT JoSod:
A B C D
P I I m v
@ m I v I
@ mr I v I
I

VoM
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AddaR47

Q - GS8/1G/100 ’

@ i (61)
gentify the ; ) e gD«
linguistic di\?el‘;ﬁ;o(;'?cs_ statement on the [112. Zpl‘géﬁ'ﬁg Tex ’ébéso‘q‘) SDIS DI
1 1 ndia ; (pV{6TeTnTelalH » S

linstelc;.)gl Census, 1652 languages were |- (1) 1961 2% SE Lgs"éggw a"’;‘ﬁs
2N Kacl hs mother tongues in India. 1652 TR STON S
¢hchi and Singh; TODTF 0.
1 are Indo-European 5 o
3) Aa:g:;gels__ @ 50y H0aw B0 BOB-AITHHS
Stric languages are spoken by the 27 EN. '
" iI:)nbal. g’roups in Jharkhand. (3) e S ARSI 2308 ABS
ardi is a Sino-Tibetan language. HATFSEED .,ﬁrég"dﬁ@"ﬁ). }
113. Match the following : @) o0 ©I6 o8 RS-BBOS 2.
g;“" List-Il 113. (§00 TR 2SHELBOR :
ag::ﬁ ;:;d)b urn (Practising region) | a7l e 11
re
A. Ladang I. Central America (%D S5a3-AbO) (&% (@oso)
B. Milpa II. Indonesia A. owroh L Qs oS
C. Roca III. Central Africa \ B. er) - II. 08T n0S»
D. Masole IV. Brazil c. 8s ' I DS &5
:-il\::lsﬁe lthe correct answer using the codes D. FS ' v. B2
ow : 0
A B o 5 BN BASLDAS FHOD GITJrAoD JBS
DIFETT R, OO
1 I II III v A B C D
3) III I v II @2 I I v 11T
@ I;I v 1 1 @ W I v I
@ Following are the regions of Iron and Steel| (4) 11 v I 11
industry in the world : i _ -
sty . 114, 808D |HB0BOS’D B SO ¥y
1. The Atlantic coast region : The United DOES Prosey :
States L. tTotSE &8 |ros0 : O
II. The Ural region : Russia QosNE T aren
III. The Ruhr region : Eastern Europe | IL  OES (200 : B
IV. The North-eastern and Central parts : III. &0 oo : &%) DD
" b United Kingdom IV. &705 DOA Ny errren
i T : AT BB 8ohicted
Which of the above are correctly matched : 2 DB, 58S HY DO HONOID ?
(1) 1 IandIll (1) 1,11 380 I
(2) L 1andIV (2) I, 115808 IV
@ L 111 and IV 3) I, 11000 IV
4 LI IIand IV . @) 1,11, I S080% IV
. e T
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Addai2417
oogle Play

GS/1G/100
(62) .
acax 2o £ "
115. Trans-Siberian Railway runs between the 116 éﬂnsess 8 Qb
stations in Russia from : 50053 OE0B !
FOSFS SO
(1) Moscow to Vladivostok ) S e hYoloM
@ M 2) S5 Hob 332356533
] oscow to Khabarovsk | & 2500065 56,6308 »ob Q‘&S@'§
(3)  St. Petersburg to Vladivostok - $58
(4)  St. Petersburg to Khabarovsk (4) 200008 ‘53@5,3?,)5 o &)23565,'}?:
5680

@. Consider the following states of India : % 8o O°aFOD

116. rBBTIOSD

L. Fungsh | 5863008 :
II.  Odisha -~ L HoEd
I Haryana oL 4%
= . <o

IV. Tamil Nadu K N V., e
Which of the above states have relatively high | i) 0‘@}‘0_)656 363(’56 2oy vorO Fslevgle
level of groundwater utilization ? : D HE O DF0EIT &0 ?
(1) I, IandII o _ (1 1,100k I

[ T aqd IV oo (2 LI B IV
@ Lien o @ LS00V
(3) I IIandIV (@) 1,11, I SH8 0w IV

(4) LILIIandIV ® _
117. 885508 s Dot IR SIS

(¥ oo :

117. Identify the incorrect statement on Wheat | .

crop cultivation in India :

1) =6  BosdS ©d  Sopsds

: (IHe} © dod.
(1) It is the second most important cereal IS &

2) @B DOHHI) oS 2§ IV

crop.
. b ‘
(2) It is a Rabi crop that requires a cool T80 ©I08THY 8D How.
i ason. v
growing se | ' 3) QB HTSOT Kor-3BE DTS
3) It is chiefly grown in the Ganga-Satluj EHHS0S.
plains.

@) SHSS'D SVBUA Foo |00 D

(4) Black soil region of the Deccan is not
| 0K BHETO0 T,

suitable for wheat cultivation.
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118. arsegios R & o

GS/1G/q 00
(63)
fonSIde-r the following o) fields of India
' Dighoj
L Moray
I Ka)g
IV, Nahal‘katlya
A‘Z}:a:}; :f the above oil fields are located in
D I, ang 11y
(2) 111 and IV
(3) LI ang v.
4 LILIIandrv

119. In India, most of the jute mills are located in :
(1)
(2)
3)
(4)

Damodar basin
Subarnarekha basin
Hugli basin .

Brahmaputra basin

120. Consider the following erstwhile districts of

Andhra Pradesh :

I West Godavari
II. East Godavari
III. Visakhapatnam
IV. Srikakulam

In which of the above districts are coffee

plantations mainly existing in their agency

119.

areas ?

(1) I,1IandIII

(2) 1IandIIlonly
3 I1,MandIV

(4) IlandIV only

120.

GET IT ON
Google Play

(A]

& A 3'@90;\‘»

$0Ke80508
I OffHD
I 369

. 'S

V. &5r8ye30%0 ,

2565 BESY SN oS D o0
Gy oW ?

(1) 1,11 88w III

2 1,118 IV

(3) 1,11 H8os» IV

(4) 1,11, I 80 IV

rSSTios, wrer J8% 273 even
Q8 GO :

1) o3rsd & (oo

(2) 2P0 & [roeo

@) Sof & Rro¢so

@) (RIS SO |00

SOPDDBISA & (1808 FSs BTOD
Relelif:loinlete I
L 33 Forss
I &rd) Forsd
III. AP0
V. 3Is%%o
DS DELS), D 2SS wdy Seven DSorr
B0 B |ToeS G om ?
(1) I, 1 08a% I
(2) II0a% IIT S(ehadH
(8) I,IH S8asw IV
(4) TII 80 IV Sr(ehsdh
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